> [2013]219
( ) 2018 62

()

2022 12

2013 219

2014 8

> 2021 310







(%)

@)

Q)

Q)

0.10

0.30

0.40

0.20

0.10

0.30

0.20

0.40

G = S1x Qi+t S2x Q2+ S3x Q3+ S4x (4

100
S1 80
50
20
S1
S2
200

S2 =

.1'1 ffl +\2 +f2 +' " '+x”.+ f”

fl+f?f+.”+fn

*2




S3

200
1 200
scl
2 130
ssCl ; "
4 50
200
A
AHCI( CD 100
CSSCI(
80
“ ” 1500
CSSCI(
45
( )




El

CSCD
6 30
7 | CSCD 25
8 15
ISTP
SciI(
9 EI 10
10 5
1
2 100%
100%




30 30

1.0 0.8 0.6 0.4

1.2 1.0 0.6




50 30 10
10 8 5 [13 ”
200 50 1
130 20
50 10 2
1/2
10 2 3
80
10

10




1.0

0.3

1.0

0.2

0.1

S4

30

20

200




10

10

10

10

10




10

7-9




o B~ W DN

2024 10 10










